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Identify the type of congruence o Ll iy all Gl g i s

s transformation shown as a Ly gagf Al

Reflection reflection, translation, or rotation.

BT

Rotation
b.

dal

Translation
[

il

None of them
d




24 and 25 form linear pair. If s g (N&EL 25 5 24
mz5=2xand ms£4=x+4+9, «msz4=x+9 sms5 =2x
find mz4. MmsL4 s




Refer to the diagram below to find OIS 1Y) ms3 aagl slaf JCian LY g5k
mzs3if msz2 =115 mzs2 =115

Creek Road U el S Joas 3o bs

o ?'g 0 Wendell Park 0\\0 oy 5k

Reddmg Lane e....u, <




Given: WP and AB, bisect each other, ¢ AY) Lagia JS cialy, WP AB bl

Which postulate can be used to LAY galadin) (o Al dabial) ads
prove that the triangles are Ollata ol o
congruent?
A
w
X
P

SAS

IR




Find the value of x so that m\\n m\\n ¢ dus X dad aa




Which pair of triangles have Blare AlS Cilaghea dllo Cililial) ja ¥ gl

I enough information given to prove S8S alaaiul ddilhia cililis gl ey
that the triangles are congruent SAS
using SSS or SAS.




Refer to the figure to identify Ala ¢ 88l JCil e alaeYl
a segment parallel to UV. UV e dajlgia dakd




FindmZ2, m/3. mZ3 ym/2 sy

o T e R A R

mZ2="55,m/3=107°




State the property that justifies the Sylaal) 55 Al dualdl) <O
statement. X =585 =x k)

If 5 = x,then x = 5.

AN WD, W

JiLan

Symmetric )
-

iKYy
Reflexive

L.S-"':'“
Transitive

g

Substitution




Find the segment that represents O ddlecal) Jias i dasiiical) daladl) as
the distance indicated from .AB I C
C to AB .




Find the value of variable, coeniall daad aa

60°
Ix—D5
60°

2x+ 5




Given: Q is the midpoint of RS, RS Ciaiia dhii Q:culidaral)
PS = PR PS = PR ;

Name a pair of congruent triangles. AR SEE) Gy Lag; »

P
R Q S
N e
| ARQP = ASQP o
P AR . ................... -_‘._J24 ______

ARQP = ASPQ

ARQP = AQPS

ARQP = APQS




In the diagram, /A= /X and Vi FYA QVICYs BL- I

/B= /Y . What additional LY el (a0 ALyl dagled) L
information could be used to prove SAABC = AXYZ CJ

that AABC = AXYZ ?




Find the area of the triangle shown. puagal) Glidl daloce 2a

27 cm

|190m

- F‘i




Classify A ABC shown . puasall A ABC il




Find mz1 if mz2 = 48° and smsz2 = 48° K1 msl s
m £ JKL = 145° . .m £ JKL = 145°

mz1 = 145°
d.




Classify the relationship between 42 543 (u Al Rl
22 and 23

Al duli)a

Consecutive interior

Corresponding




Name the missing coordinates of Caliall dlgeaad) cldlaay) e

the triangle.
N(?,?)

M(?,?) P(2a, 0)

(0 X
N(a,0),M(a,0)

N(0,2a),M(0,0) (V]

N(0,2a), M(0, 2a)
N(2a,2a), M(0,0)
d.




Determine which lines, if any, are _i:ij[_g‘.h (Sdag o) cClasiioal) (o) das

parallel.so that m2£2 = m 23 . . ML2 = m L3 &aa




State the property that justifies the Sylal) 38 Al dualdl) <Y
statement. .y=18 8 6 = g O 1)
If 6 =¥ then, y = 18.

3

el

addition

S

Subtraction

Division




Write an equation in slope-intercept (sl auiicall ahadally Joall dasas ddslaa S|
form for a line containing (1,5) with —3 4l (1,5) dhaill o

slope —3




Find the value of x. . X dad 2a

A (2x 4+ 5)°

148° G~ 10




In the diagram, A LMN = A QRS. ALMN = A QRS «J<a
Findx,y. X,V




Refer to the figure to state the
postulate that can be used to show

the following statement is true.

Line n contains the points C, D and E.

S 3

&)

Oe

A daca Bl S ¢ gl JCA e alael

asaa 400N §ilal) o) LAY Lgaladia) (Sa

- EgDg C L) e n sl ggiag

m

o
) Ao GuhE e asdiad) (Sgiag
A line contains at least two points.

d.
Jagd Fasfg ddagi LB () 5< Lagadalds o8 . ylasdiiea adalds 3

) If two lines intersect, then their intersection is exactly one point.
i §)gua 93 O8S Lagahlas (& ¢ Oligina adalds 13)
If two planes intersect, then their intersection is a line.

C.

Baaly daliin o cud J8Y) e Dalis ENG5 e (S5l (Sgian
A plane contains at least three noncollinear points.



Find the slope of the line. caniiiial) Jue aa




